-~ 8

V L [6] Y M
-: http://130.149.60.45/~farbmetrik/IE35/IE35LONP.PDF /.PS; start output -_
N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D); page 1/3

Colorimetric "Standard data": Television Luminous System TLSO0O for CIE lightnessL* =00 of black for illuminant D65

System TLS00 Color r=olv*; g=olv*» b=olv*3 L* a b* C*apb  hap X=XYZ1 Y=XY2Zo Z=XYZ3 X y Y/88.59

LCD monitor O(R) 1.0 0.0 0.0 50.5 76.92 6455 10042 40  36.54 18.84 1.71 0.64 0.33 D.2127
Y 1.0 1.0 0.0 92.66 -20.69 90.75 93.08 103 68.21 82.19 12.27 0.4193 0.5053 [0.9278
D65 reflection: L (G) 0.0 1.0 0.0 8363 -82.75 79.9 11504 136 31.68 63.36 10.56 0.3 0.6 7152
' cC 00 1.0 1.0 86.88 -46.16 -13.55 4812 196 47.67 69.76 94.74 0.2247 0.3288 [0.7874
YN = 0.0 V (B) 0.0 0.0 1.0 2572 3145 -4429 5433 305 7.17 4.65 21.37 0.216  0.1402 .0525
L*x = 0.01 M 1.0 0.0 1.0 57.3 9435 -58.41 11097 328 52.52 25.23 85.89 0.3209 0.1542 [.2848

N=U. N 00 0.0 0.0 0.01 0.0 0.0 001 O 0.0 0.0 0.0 03127 0329 olo

W 10 1.0 1.0 95.41 0.0 0.0 001 O 84.2 88.59 96.46 03127 0329 1.0

NO 0.0 0.0 0.0 0.01 0.0 0.0 001 O 0.0 0.0 0.0 03127 0329 do

Wi 1.0 1.0 1.0 95.41 0.0 0.0 0.01 0 84.2 88.59 96.46 0.3127 0.329 1.0

Colorimetric "Adapted data (a)": Television Luminous System TLS00a for CIE lightnessL* =00a of black for illuminant D65
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) System TLS00a  cColor r=olv*1 g=olv*; b=olv*3 L* 4 a*a b*a C*aba haba Xa=XYZia Ya=XYZ2a Za=XYZ3a Xa Va Y4/88.59
20 LCD monitor OR)10 00 00 50.5 76.92 6455 10042 40  36.54 18.84 1.71 064  0.33 D.2127
e Y 10 10 00 9266 -20.69 90.75 9308 103 68.21 82.19 12.27 0.4193 0.5053 [.9278
<2 D65 reflection: L(@G) 00 1.0 00 8363 -82.75 79.9 115.04 136 31.68 63.36 10.56 0.3 0.6 7152
=5 lon. cC 00 10 10 86.88 -46.16 ~-13.55 4812 196 47.67 69.76 94.74 0.2247 0.3288 [0.7874 L
o YN =0.0 V({B) 00 00 10 2572 3145 -4429 5433 305 7.17 4,65 21.37 0.216  0.1402 .0525 m
: L*x = 0.01 M 1.0 00 1.0 57.3 9435 -58.41 11097 328 5252 25.23 85.89 0.3209 0.1542 [.2848 w
3 N=0. N 00 00 00 0.01 0.0 0.0 001 0 0.0 0.0 0.0 03127 0329 00 a
- ~~
=5 ® W 1.0 10 1.0 95.41 0.0 0.0 001 0 84.2 88.59 96.46 03127 0329 10 =
” o NO 00 00 00 0.01 0.0 0.0 001 0 0.0 0.0 0.0 03127 0329 do E”o
o) Wi 10 10 1.0 95.41 0.0 0.0 001 0 84.2 88.59 96.46 03127 0329 1.0 N
o3 —
3= =
oo Colorimetric "Adapted data (a0)": Television Luminous System TLS00a0 for CIE lightnesd.* =00a0 of black for illuminant D65 %
® < System TLS00a0 color r=olv*; g=olv*; b=olv*3 L*a9  a*a0  b*ap  C*aba0 habao Xa0o=XYZ1a0 Yao=XYZ2a0 Zao=XYZ3a0 Xa0 Ya0  Ya0/88.59 o
e LCD monitor O(R)10 00 00 50.5 76.92 6455  100.42 40  36.54(=36.53+0.0) 18.84(=18.84+0.0)  1.71(=1.71+0.0) 0.64 0.33 0.2127 2.5
=0 Y 10 1.0 00 9266 -2069 90.75 9308 103 68.21(=68.21+0.0) 82.19(=82.19+0.0)  12.27(=12.27+0.0)  0.4193 0.5053| 09278 F
=2 D65 reflection: L(G) 0O 1.0 00 83.63 -82.75 79.9 115.04 136 31.68(=31.68+0.0) 63.36(=63.36+0.0)  10.56(=10.55+0.0) 0.3 0.6 0.7152 =
Sa : C 00 10 10 86.88 -46.16 ~-13.55 4812 196 47.67(=47.67+0.0)  69.76(=69.76+0.0)  94.74(=94.74+0.0)  0.2247 0.3288| 0.7874() ==
T3 YN =0.0 V(@) 00 00 10 2572 3145 -4429 5433 305 7.17(=7.17+0.0) 4.65(=4.65+0.0) 21.37(=21.3740.0) 0216  0.1402 | 0.0525 % U
== L*x = 0.0 M 10 00 1.0 57.3 9435 -5841 11097 328 52.52(=52.52+0.0) 25.23(=25.23+0.0)  85.89(=85.89+0.0) 0.3209 0.1542| 0.2848 & N
wm N=0. N 00 00 00 0.01 0.0 0.0 001 0 0.0(=0.0+0.0) 0.0(=0.0+0.0) 0.0(=0.0+0.0) 0.3118 0.3281 (0.0 0]
o g W 1.0 10 1.0 95.41 0.0 0.0 001 0 84.2(=84.2+0.0) 88.59(=88.59+0.0)  96.46(=96.46+0.0) 0.3127 0329 | 1.0 3
= NO 00 00 00 0.01 0.0 0.0 001 0 0.0(=0.0+0.0) 0.0(=0.0+0.0) 0.0(=0.0+0.0) 0.3118 0.3281 |0.0 7
N wi 10 10 1.0 95.41 0.0 0.0 001 0 84.2(=84.2+0.0) 88.50(=88.59+0.0)  96.46(=96.46+0.0)  0.3127 0.329 | 1.0
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IE350-7N, Colorimetric data of Television Luminous System TLS00 for CIE standard illuminant D65; sRGB-System; Page: 1/3
TUB-test chart IE35; 8 basic colo®YLCVMNW, TLS00 input: olv* setrgbcolor
Calculation of CIE data for SRGB display for 8 reflections output:no change compared to in
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-: http://130.149.60.45/~farbmetrik/IE35/IE35LONP.PDF /.PS; start output -_
N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D); page 2/3

Colorimetric "Adapted data (a0)": Television Luminous System TLS00a0 for CIE lightnesd.* =00 of black for illuminant D65
=4 System TLS00a0 cColor r=olv*1 g=olv*; b=olv*3 L* a0 a*a0 b*a0 C*aba0 Naba Xao=XYZia0 Ya=XYZ2a0 Zao=XYZ3a0 Xa0 Yao  Ya0/88.59
) LCD monitor OR 10 00 00 50.5 76.92 6455  100.42 40  36.54(=36.53+0.0) 18.84(=18.84+0.0)  1.71(=1.71+0.0) 0.64 0.33 0.2127 &
oo Y "10 10 00 9266 -2069 90.75 93.08 103 68.21(=68.21+0.0) 82.19(=82.19+0.0)  12.27(=12.27+0.0)  0.4193 0.5053| 0.9278
= D65 reflection: L@ 00 10 00 83.63 -82.75 79.9 115.04 136 31.68(=31.68+0.0)  63.36(=63.36+0.0)  10.56(=10.55+0.0) 0.3 0.6 07152 =~
3.3 eflection: c 00 10 10 86.88 -46.16 -13.55 4812 196 47.67(=47.67+0.0) 69.76(=69.76+0.0)  94.74(=94.74+0.0) 0.2247 0.3288| 0.7874Q
oG Yn =0.0 V(@) 00 00 10 2572 3145 -4429 5433 305 7.17(=7.17+0.0) 4.65(=4.65+0.0) 21.37(=21.37+0.0) 0.216  0.1402 | 0.0525 .
= *y = 0.0 M 10 00 1.0 57.3 94.35 -5841 11097 328 52.52(=52.52+0.0) 25.23(=25.23+0.0)  85.89(=85.89+0.0) 0.3209 0.1542| 0.2848 & &’
5D N=0. N 00 00 00 0.01 0.0 0.0 001 0 0.0(=0.0+0.0) 0.0(=0.0+0.0) 0.0(=0.0+0.0) 0.3118 0.3281 (0.0 S =
3= w 10 10 10 95.41 0.0 0.0 001 0 84.2(=84.2+0.0) 88.59(=88.59+0.0)  96.46(=96.46+0.0) 0.3127 0329 | 1.0 _. @
o9 NO 00 00 00 0.01 0.0 0.0 001 0 0.0(=0.0+0.0) 0.0(=0.0+0.0) 0.0(=0.0+0.0) 0.3118 0.3281 |0.0 o=
S o wi 10 10 1.0 95.41 0.0 0.0 001 0 84.2(=84.2+0.0) 88.59(=88.59+0.0)  96.46(=96.46+0.0) 0.3127 0.329 | 1.0 5 S
59 =
52 Calculated colorimetric data: Television Luminous Systems TLSxxa for CIE lightnesk* =00, 06, 11, 18 of black for illuminant D65 N
. System TLS00a  color r=olv*1 g=olv*; b=olv*3 L*4 a*a b*a C*aba haba Xa=XYZia Ya=XYZ24 Za=XYZ3a Xa Ya Ya/88.59 2 =
== LCD monitor OR 10 00 00 50.5 7692 6455 10042 40  36.54(=36.54+0.0) 18.84(=18.84+0.0)  1.71(=1.71+0.0)  0.64 0.33 02127 g S
=0 Y 10 10 00 9266 -2069 9075 9308 103  6821(=68.21+0.0) 8219(=8219+0.0) 1227(=12.27+0.0) 04193 05053 0.9278 5 =
T < D65 reflection: L@ 00 10 00 83.63 -82.75 79.9 115.04 136  31.68(=31.68+0.0)  63.36(=63.36+0.0)  10.56(=10.56+0.0) 0.3 0.6 0.7152 = O
== : cC 00 10 10 86.88 -46.16 -1355 4812 196  47.67(=47.67+0.0)  69.76(=69.76+0.0)  94.74(=94.74+0.0) 0.2247 0.3288| 0.78748 K=
3 Yn =0.0 V(@) 00 00 10 2572 3145 -4429 5433 305  7.17(=7.17+0.0) 4.65(=4.65+0.0)  21.37(=21.37+0.0) 0.216  0.1402| 0.0525 = =
o L*n = 0.0 M 10 00 1.0 57.3 9435 -5841 11097 328 52.52(=52.52+0.0) 25.23(=25.23+0.0)  85.89(=85.89+0.0) 0.3209 0.1542| 0.2848 o [T]
: N=0. N 00 00 00 0.01 0.0 0.0 00 © 0.0(=0.0+0.0) 0.0(=0.0+0.0) 0.0(=0.0+0.0) 0.3037 0.3195 | 0.0 -0
=3 w 10 10 10 95.41 0.0 0.0 00 0 84.2(=84.2+0.0) 88.59(=88.59+0.0)  96.46(=96.46+0.0) 0.3127 0329 [ 10 T
oo NO 00 00 00 0.01 0.0 0.0 00 0 0.0(=0.0+0.0) 0.0(=0.0+0.0) 0.0(=0.0+0.0) 0.3037 0.3195 | 0.0 =m
) 9 Wi 1.0 1.0 1.0 95.41 0.0 0.0 00 0O 84.2(=84.2+0.0) 88.59(=88.59+0.0)  96.46(=96.46+0.0) 0.3127 0.329 | 1.0 = ¢y
8_ 3 System TLSO06a Color r=olv*; g=olv*» b=olv*3 L*4 a*a b*a C*aba haba Xa=XYZia Ya=XYZ2a Za=XYZ34 Xa Ya Y4/88.59) @ (I_"'
3= LCD monitor OR 10 00 00 51.08 7555 59.69 9628 38  36.87(=36.28+0.6) 19.34(=18.71+0.63)  2.39(=1.7+0.69)  0.6293  0.33 0.21830 ©
oA Y 10 10 00 9268 -2053 89.24 9157 103  68.32(=67.72+0.6)  82.24(=81.61+0.63) 12.87(=12.18+0.69) 0.4181 0.5032| 0.9283 " =
Q D65 reflection: L@G) 00 10 00 83.72 -81.8 7832 11326 136 32.05(=31.45+0.6) 63.54(=62.91+0.63) 11.17(=10.48+0.69) 0.3002 0.5952 0.71723 T
® < eflection: c 00 10 10 86.95 -4572 -13.44 47.67 196 47.93(=47.33+0.6)  69.9(=69.27+0.63)  94.75(=94.07+0.69) 0.2255 0.3288 0.789 O :
o Yn = 0.63 V(@) 00 00 10 27.43 2931 -423 5147 305  7.72(=7.12+0.6) 5.25(=4.62+0.63)  21.9(=21.22+0.69) = 0.2213 0.1505| 0.0592 3 U
= L*x = 569 M 10 00 1.0 5773 9307 -57.72 10952 328  5274(=52.14+0.6)  25.68(=25.05+0.63) 85.97(=85.28+0.69) 0.3208 0.1562 0.2899F )
=S N=9. N 00 00 00 5.7 0.0 0.0 00 0 0.6(=0.0+0.6) 0.63(=0.0+0.63) 0.69(=0.0+0.69) 0.3127 0.329 [ 0.0071 S T
S w 10 10 10 95.41 0.0 0.0 00 0 84.2(=83.6+0.6) 88.59(=87.96+0.63) 96.46(=95.77+0.69) 0.3127 0.329 | 1.0 (5 =~
= 8 NO 00 00 00 5.7 0.0 0.0 00 0 0.6(=0.0+0.6) 0.63(=0.0+0.63) 0.69(=0.0+0.69) ~ 0.3127 0.329 [ 0.0071 <& T
== wi 10 10 1.0 95.41 0.0 0.0 00 O 84.2(=83.6+0.6) 88.59(=87.96+0.63) 96.46(=95.77+0.69) 0.3127 0329 | 1.0 & (n
w (T, System TLS11a  cColor r=olv*1 g=olv*; b=olv*3 L* 5 a*a b*a C*aba haba Xa=XYZia Ya=XYZ2a Za=XYZ3a Xa Ya Y4/88.59 g
O, LCD monitor OR)10 00 00 5165 7421 5583 9287 37  37.21(=36.02+1.2) 19.83(=18.57+1.26)  3.06(=1.69+1.37) 0.6191 0.33 022392
e Y 10 10 00 927  -20.37 87.77 90.11 103  68.44(=67.24+1.2) 82.28(=81.02+1.26) 13.46(=12.09+1.37) 0.4168 0.5012| 0.9288
L] D65 reflection: L@G) 00 10 00 83.82 -80.86 76.81 11153 136 32.43(=31.23+12) 63.72(=62.46+1.26) 11.78(=10.4+1.37) 0.3005 05904 0.7192
©w reflection: 00 10 10 87.01 -4529 -13.34 47.23 196 48.19(=47.0+1.2)  70.03(=68.77+1.26) 94.77(=93.39+1.37) 0.2263 0.3288| 0.7905
o g Yn=1.26 V(@) 00 00 10 29.02 27.48 -405 4895 304  8.27(=7.07+1.2) 5.85(=4.59+1.26)  22.44(=21.07+1.37) 0.2262 0.1599| 0.066
S5 L*x = 11.0 M 10 00 10 5816 91.8  -57.03 108.08 328 52.97(=51.77+l.2) 26.13(=24.87+1.26) 86.04(=84.67+1.37) 0.3207 0.1582] 0205
»> N=11. N 00 00 00 11.0 0.0 0.0 00 0 1.2(=0.0+1.2) 1.26(=0.0+1.26) 1.37(=0.0+1.37) 03127 0329 |o00142 &
a3 w 10 10 10 95.41 0.0 0.0 00 0 84.2(=83.0+1.2) 88.59(=87.33+1.26) 96.46(=95.09+1.37) 0.3127 0.329 | 1.0 w
T- NO 00 00 00 11.0 0.0 0.0 00 0 1.2(=0.0+1.2) 1.26(=0.0+1.26) 137(=0.0+137) 03127 0329 | 0.0142 3
Y wi 1.0 1.0 1.0 95.41 0.0 0.0 00 0 84.2(=83.0+1.2) 88.59(=87.33+1.26) 96.46(=95.09+1.37) 0.3127 0.329 | 1.0 o
o % System TLS18a  color r=olv*1 g=olv*; b=olv*3 L*4 a*a b*a C*aba haba Xa=XYZia Ya=XYZ2a Za=XYZ3a Xa Ya Y4/88.59) @
= LCD monitor OR 10 00 00 5276 7163  49.88  87.29 35  37.89(=35.5+2.4)  20.82(=18.3+2.52)  4.41(=1.66+2.74) 0.6003 0.3299| 0.2351 =
D9 Y 10 10 00 92.74 -2004 84.97 8731 103 68.66(=66.27+2.4) 82.38(=79.86+2.52) 14.66(=11.92+2.74) 0.4144 0.4971] 09298 L
= D65 reflection: L(@G) 00 1.0 00 840 -79.0 7394 10821 137 33.17(=30.78+2.4) 64.08(=61.56+2.52) 13.0(=10.25+2.74)  0.3009 05812 0.7233
= : cC 00 10 10 87.14 -4443 1313 4634 196 48.71(=46.32+24) 70.3(=67.78+252)  04.79(=92.05+2.74) 02278 03288 07935 g
Yn =2.52 V(@) 00 00 10 31.9 2446 -37.39 4469 303  9.36(=6.97+2.4) 7.04(=4.52+2.52)  23.51(=20.76+2.74) 0.2346 0.1764| 0.0795
*\ = 18.01 M 10 00 1.0 50.01  89.33 -55.69 10527 328 53.42(=51.02+2.4) 27.03(=24.51+2.52) 86.19(=83.45+2.74) 0.3205 0.1622] 0.3051 ¢p
N = lo. N 00 00 00 18.01 0.0 0.0 00 © 2.4(=0.0+2.4) 2.52(=0.0+2.52) 2.74(=0.0+2.74)  0.3127 0.329 | 0.0285 1l
w 10 10 10 95.41 0.0 0.0 00 0 84.2(=81.8+2.4) 88.59(=86.07+2.52) 96.46(=93.72+2.74) 0.3127 0.329 | 1.0 =1
NO 00 00 00 18.01 0.0 0.0 00 0 2.4(=0.0+2.4) 2.52(=0.0+2.52) 2.74(=0.0+2.74) ~ 0.3127 0.329 | 0.0285
Wi 10 1.0 1.0 95.41 0.0 0.0 00 O 84.2(=81.8+2.4) 88.59(=86.07+2.52) 96.46(=93.72+2.74) 0.3127 0.329 | 1.0

IE350-7N, Colorimetric data of Television Luminous System TLS00a for CIE standard illuminant D65; sSRGB-System; Page: 2/3

-: TUB-test chart IE35; 8 basic colo®YLCVMNW, TLS00 input: olv* setrgbcolor r
5 Calculation of CIE data for SRGB display for 8 reflections output:no change compared to in
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System TLS00a0
LCD monitor

D65 reflection:
YN =0.0
*n=0.0

System TLS27a
LCD monitor

D65 reflection:
Yn =5.04
L*Nn = 26.85

System TLS38a
LCD monitor

D65 reflection:
Yn = 10.08
L*n =37.99

System TLS52a
LCD monitor

D65 reflection:
Yn = 20.16
L*n =52.02

System TLS70a
LCD monitor

D65 reflection:
Yn =40.32
*N =69.7
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http://130.149.60.45/~farbmetrik/IE35/IE35LONP.PDF /.PS; start output -_
N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D); page 3/3
Colorimetric "Adapted data (a0)": Television Luminous System TLS00a0 for CIE lightnesd.* =00 of black for illuminant D65
Color r=olv*1 g=olv*2 b=olv*3 L* a0 a*ao b*ao C*ab,a0 haba Xaoc=XYZ1a0 Ya0=XYZ2a0 Za0=XYZ3a0 Xa0 Ya0 Ya0/88.59
O(R) 10 00 00 50.5 7692 6455 10042 40  36.54(=36.53+0.0) 18.84(=18.84+0.0)  1.71(=1.71+0.0) 064 033 | 021278
Y 10 10 00 92.66 -20.69 90.75  93.08 103 68.21(=68.21+0.0) 82.19(=82.19+0.0)  12.27(=12.27+0.0)  0.4193 0.5053| 0.9278
L(G) 00 1.0 00 8363 -82.75 79.9 115.04 136 31.68(=31.68+0.0)  63.36(=63.36+0.0)  10.56(=10.55+0.0) 0.3 0.6 0.7152 =
00 10 10 86.88 -46.16 -1355 4812 196 47.67(=47.67+0.0)  69.76(=69.76+0.0)  94.74(=94.74+0.0)  0.2247 0.3288| 0.7874Q
V(@) 00 00 10 25.72 3145 -4429 5433 305 7.17(=7.17+0.0) 4.65(=4.65+0.0) 21.37(=21.37+0.0) 0.216  0.1402 | 0.0525 B
M 10 00 10 57.3 94.35 -58.41 11097 328 52.52(=52.52+0.0) 25.23(=25.23+0.0)  85.89(=85.89+0.0) 0.3209 0.1542| 0.2848 &
N 00 00 00 0.01 0.0 0.0 001 0 0.0(=0.0+0.0) 0.0(=0.0+0.0) 0.0(=0.0+0.0) 0.3118 0.3281 (0.0 S
W 1.0 10 10 95.41 0.0 0.0 001 0 84.2(=84.2+0.0) 88.59(=88.59+0.0)  96.46(=96.46+0.0) 0.3127 0329 | 1.0
NO 00 00 00 0.01 0.0 0.0 001 0 0.0(=0.0+0.0) 0.0(=0.0+0.0) 0.0(=0.0+0.0) 0.3118 0.3281 |0.0 o
Wi 10 10 1.0 95.41 0.0 0.0 001 0 84.2(=84.2+0.0) 88.59(=88.59+0.0)  96.46(=96.46+0.0)  0.3127 0.329 | 1.0 5
Calculated colorimetric data: Television Luminous Systems TLSxxa for CIE lightnesk* =27, 33, 52, 70 of black for illuminant D65 >
Color r=olv*1 g=olv*2 b=olv*3 L* 4 a*a b*a C*ab,a haba Xa=XYZ1a Ya=XYZ24 Za=XYZ3a Xa Ya Ya/88.59 8
O(R) 10 00 00 5487 6684 4169 7878 32  39.25(=34.46+4.79) 22.81(=17.77+5.04) 7.1(=1.61+5.49) 05675 03298 0.257573
Y 10 10 00 9282 -194 7981 8213 104  69.12(=64.33+4.79) 82.56(=77.52+5.04) 17.06(=11.57+5.49) 0.4096 0.4893 0.93193
L(G) 00 1.0 00 8438 -754  68.76 10205 138  34.67(=29.88+4.79) 64.79(=50.75+5.04) 15.44(=9.95+5.49)  0.3017 0.5639 0.73143
C 00 10 10 874  —4273 -1271 4459 197  49.75(=44.96+4.79) 70.83(=65.79+5.04) 94.84(=89.35+5.49) 0.2309  0.328§ 0.79953
V(@) 00 00 10 3679 2012 -3247 3821 302 11.55(=6.76+4.79)  9.43(=4.39+5.04)  25.64(=20.16+5.49) 0.2478 0.2022| 0.1064 =
M 10 00 10 60.64 8461 -53.09 99.89 328 54.32(=49.53+4.79) 28.84(=23.8+5.04)  86.49(=81.01+5.49) 0.3202  0.17 0.3255 O
N 00 00 00 26.85 0.0 0.0 00 0 4.79(=0.0+4.79) 5.04(=0.0+5.04) 5.49(=0.0+5.49) ~ 0.3127 0.329 | 0.0569 —h
W 10 1.0 1.0 95.41 0.0 0.0 00 0 84.2(=79.41+4.79)  88.59(=83.55+5.04) 96.46(=90.97+5.49) 0.3127 0329 | 1.0 O
NO 00 00 00 26.85 0.0 0.0 00 0 4.79(=0.0+4.79) 5.04(=0.0+5.04) 5.49(=0.0+5.49) ~ 0.3127 0.329 | 0.0569 =-
wli 10 10 10 95.41 0.0 0.0 00 0 84.2(=79.41+4.79)  88.59(=83.55+5.04) 96.46(=90.97+5.49) 0.3127 0329 [ 1.0 =
Color r=olv* 1 gZOIV*Z bZOIV*g L*y a*y b*a C*ab’a hab’a Xa=XYZ1a Ya=XYZ24 Za=XYZ3a Xa Ya Ya/8859 Q
O(R) 10 00 00 58.77 5845 3172 665 28  41.96(=32.38+9.58) 26.78(=16.7+10.08) 12.49(=1.52+10.98) 0.5166 0.3297 0.30220
Y 10 1.0 00 92.98 -18.12 70.81 731 104  70.03(=60.45+9.58) 82.92(=72.84+10.08) 21.85(=10.87+10.98) 0.4006 0.4744 0.936 _
L(G) 00 1.0 00 85.11 -68.59 60.02  91.15 139  37.66(=28.08+9.58) 66.23(=56.15+10.08) 20.33(=9.35+10.98) 0.3032 0.5333 0.74763
00 10 10 87.92 -39.43 -11.88 4119 197 51.83(=42.25+9.58) 71.9(=61.82+10.08) 94.94(=83.96+10.98) 0.237  0.3284 0.81160
V(@B) 00 00 10 4452 1484 -2566 29.65 300 15.93(=6.35+9.58)  14.2(=4.12+10.08)  29.91(=18.94+10.98) 0.2653  0.2365| 0.16033,
M 10 00 10 63.71 7592 -4822 89.95 328 56.12(=46.54+9.58) 32.44(=22.36+10.08) 87.1(=76.12+10.98) 0.3195 0.1847] 0.3662=F
N 00 00 00 37.99 0.0 0.0 00 O 9.58(=0.0+9.58) ~ 10.08(=0.0+10.08)  10.98(=0.0+10.98) 0.3127 0.329 | 0.1138 2
W 10 10 10 95.41 0.0 0.0 00 O 84.2(=74.62+9.58)  88.59(=78.51+10.08) 96.46(=85.48+10.98) 0.3127 0.329 | 1.0  (,
NO 00 00 00 37.99 0.0 0.0 00 0 9.58(=0.0+9.58)  10.08(=0.0+10.08) ~ 10.98(=0.0+10.98) 0.3127 0.329 | 0.1138<
Wi 10 10 1.0 95.41 0.0 0.0 00 0 84.2(=74.62+9.58)  88.59(=78.51+10.08) 96.46(=85.48+10.98) 0.3127 0329 [ 1.0 U
Color r=olv* 1 g=0|V*2 b=0|V*3 L*5 a*y b*a C* ab,a hab'a Xa=XYZ1a3 Ya=XYZoa Za=XYZ3a Xa Ya Ya/88 .59 @
O(R)10 00 00 6552 4507 2098 4971 25  47.38(=28.22+19.16) 34.71(=14.55+20.16) 23.27(=1.32+21.95) 0.4497  0.3294 o.391£§
Y 10 10 00 933  -1562 5627 584 106  71.85(=52.69+19.16) 83.65(=63.49+20.16) 31.43(=9.48+21.95) 0.3844 0.4475 0.9442
L(G) 00 1.0 00 86.55 -56.32 4652  73.06 140  43.63(=24.47+19.16) 69.1(=48.94+20.16) 30.1(=8.15+21.95) 0.3055 0.4839 0.78
00 10 10 88.94 -33.2 -10.25 3476 197  55.99(=36.83+19.16) 74.05(=53.89+20.16) 95.13(=73.18+21.95) 0.2486 0.3289  0.8358
V(@B) 00 00 10 55.84 942 -175  19.89 298  24.7(=5.54+19.16)  23.75(=3.59+20.16) 38.46(=16.51+21.95) 0.2842  0.2733| 0.2681
10 00 10 69.22  60.95 -39.57 7267 327  59.73(=40.57+19.16) 39.65(=19.49+20.16) 88.3(=66.35+21.95) 0.3182 0.2113  0.4475
N 00 00 00 52.02 0.0 0.0 00 0 19.16(=0.0+19.16) ~ 20.16(=0.0+20.16)  21.95(=0.0+21.95) ~0.3127 0.329 | 0.2276
W 10 1.0 10 95.41 0.0 0.0 00 0 84.2(=65.04+19.16) 88.59(=68.43+20.16) 96.46(=74.51+21.95) 0.3127 0.329 | 1.0
NO 00 00 00 52.02 0.0 0.0 00 O 19.16(=0.0+19.16)  20.16(=0.0+20.16) ~ 21.95(=0.0+21.95) 0.3127 0.329 | 0.2276
wli 10 10 10 95.41 0.0 0.0 00 O 84.2(=65.04+19.16) 88.59(=68.43+20.16) 96.46(=74.51+21.95) 0.3127 0.329 [ 1.0
Color r=olv*1 g=olv*2 b=olv*3 L* 4 a*a b*a C*ab,a haba Xa=XYZ1a Ya=XYZ24 Za=XYZ3a Xa Ya Ya/88.59
O(R) 10 00 00 76.43 2627 1057 2831 22  58.23(=19.91+38.32) 50.59(=10.27+40.32) 44.83(=0.93+43.9) 0.379  0.3293 0571
Y 10 10 00 9393 -1077 34.63 3627 107  75.49(=37.17+38.32) 85.11(=44.79+40.32) 50.58(=6.68+43.9) 0.3575 0.403 | 0.9606
L(G) 00 1.0 00 89.32 -35.82 27.64 4525 142 55.58(=17.26+38.32) 74.84(=34.52+40.32) 49.65(=5.75+43.9) 0.3087 0.415q 0.8448
00 10 10 90.93 -21.97 -7.09 231 198  64.3(=25.98+38.32) 78.33(=38.01+40.32) 95.52(=51.62+43.9) 0.27  0.3289] 0.8842
V(B) 00 00 10 71.46 457  -901 1011 297 42.23(=3.91+38.32) 42.85(=2.53+40.32) 55.55(=11.64+43.9) 0.3003 0.3047] 0.4837
1.0 00 10 78.5 3752 -2524 4523 326  66.94(=28.62+38.32) 54.07(=13.75+40.32) 90.7(=46.8+43.9)  0.3162 0.2554[ 0.6103
N 00 00 00 69.7 0.0 0.0 00 0 38.32(=0.0+38.32)  40.32(=0.0+40.32)  43.9(=0.0+43.9)  0.3127 0.329 | 0.4551
W 10 1.0 1.0 95.41 0.0 0.0 00 0 84.2(=45.88+38.32) 88.59(=48.27+40.32) 96.46(=52.56+43.9) 0.3127 0.329 | 1.0
NO 00 00 00 69.7 0.0 0.0 00 0 38.32(=0.0+38.32) 40.32(=0.0+40.32) = 43.9(=0.0+43.9)  0.3127 0.329 | 0.4551
wl 10 10 10 95.41 0.0 0.0 00 0 84.2(=45.88+38.32) 88.59(=48.27+40.32) 96.46(=52.56+43.9) 0.3127 0.329 | 1.0
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TUB-test chart IE35; 8 basic colo®YLCVMNW, TLS00 input: olv* setrgbcolor r
Calculation of CIE data for SRGB display for 8 reflections output:no change compared to in
] M Y [0) L \Y

IE350-7N, Colorimetric data of Television Luminous System TLS00a for CIE standard illuminant D65; sSRGB-System; Page: 3/3
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